Name: ______________________

Homework 

1. Pizza Hut sells 12 inch and 16 inch diameter pizzas. 12 inch pizzas have 6 slices. 16 inch pizzas have 8 slices. Rebecca eats 3 pieces for dinner. Would she get to eat more pizza if she had 3 slices of the 12 inch pizza or 3 slices of the 16 inch pizza? Use what we learned in class today to justify your answer.

2. Nathan only likes the crust. Should he eat the crust of 3 slices of the 12 inch or the crust of 3 slices of the 16 inch? Use what we learned in class to justify your answer. 

3. Explain why your answers make sense, comparing arc length and area of a sector. 

